
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of Week 6’s questions should be handed to me at the beginning of Thursday’s lecture of 6th April. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 6 in bold at the beginning of your answers.

Week 6

1st part

1.a)Which are the components of the MB?

b) What is money? Which are its components?

2.”When a bank grants a credit of X$, it is obliged to back it with an equal value of reserves”. Do you agree? Explain.

3. Suppose the legal R/Dep ratio is 10% and that there’s no C. It is kown that, in each day, credits granted by bank A give rise to payments in favour of other banks totaling 100M€. On the other hand, bank A receives each day payments totaling 20M€ from credits granted by other banks.

Which percentage of the credit granted by bank A must be backed with reserves?

4. Assume there’s no currency circulation and a required reserves ratio of $1.

a) “For an individual bank the marginal cost of a credit of $100 it grants to a firm is equal to the associated logistic cost plus the interest rate times $1.” Do you agree? Explain.

b) “When an individual bank grants credits totaling $100 million during one month, it needs to acquire approximately $1 million of reserves.” Do you agree? Explain, pointing out the needed assumption for your argument to be valid.

c) “When an individual bank grants credits totaling $100 million during one month, it may need to acquire much more than $1 million of reserves.” Do you agree? Explain.

d) “When all banks together grant credits totaling $100 billion during one month, they need to acquire exactly $1 million of reserves.” Do you agree? Explain.

5. Explain the two reasons why a bank may need to borrow more reserves than 1% of the credit it grants.
6. Explain the three reasons why banks need reserves.

7. What is meant by a lagged reserves requirements system?

8. a) Explain the two refinancing operations performed  by the ECB.

b) Why the name ‘refinancing’?

c) What are the two standing facilities of the ECB?

9. What happens in the Interbank Money Market (IMM)?

10. a) What would happen if the o/n interest rate of the IMM exceeded the interest rate of the Standing Lending Facilities? 

b) . What would happen if the o/n interest rate of the IMM fell below the interest rate of the Standing Lending Facilities? 

11.  If all banks have excess reserves, in which ways can they get rid of them?

12.  Explain the following sentence: “Some of the reserves banks get from the ECB involve a Repurchase Agreement. 

13. a) If during a certain week the interest rate of the IMM exceeded that of the main refinancing operations what would happen?
b) If during a certain week the interest rate of the IMM remained bellow that of the main refinancing operations what would happen?

2nd part

14. Explain how a ten-year bond functions.
15. What is the primary balance budget?

16. “A reduction of the budget deficit leads to a decline in public debt”!. Do you agree? Expain.

17. Before 2009, financial investors did not fear a defalt of the Portuguese government. How do we kow that?
18. a) What led the Northern European banks to suddenly question the ability of the Portuguese government to fulfil its debt commitments in May 2010?

b) How did they react? 
c) What was the consequence on the interest rate of the Portuguese public debt on both the secondary and the primary markets? Explain

d) What was the effect of that variation on the behaviour of investors? Explain.
e) What was the consequence of that behaviour on the interest rate of the Portuguese public debt on the secondary market? Justifique.

f) Present a scheme with the vicious spiral implicit in your answers a)-e).

19. Explain how the awareness that some investors feared a Portuguese default led two other types of investors to act. Include the explanation of  short-selling in your answer.

...

20. a) What might have led banks to suddenly question the ability of the British government to fulfil its debt commitments in May 2010?

b) If that had happened, what would have been the consequence? 

21. The ECB September 2012 announcement that it will buy any amount of debt of a government if it faces a sell-off of its bonds led to a substantial decline in the interest rates of Southern public debt. Why? 
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